Solving Equations by Factoring Review October 18, 2023

Today's Plan:

Learning Target (standard): | will solve equations by factoring.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

p.158 #26-48 even

5 38)x =—4,8
26)a=-=,~
3’9 40)a = 2,8
28)z=—4,5 42)y =2,6
30)t=-7,6 44)b =-1,3
3
32)x=-2.4 46)x = -2 —% 2
1
34)b=-,3
h=7 ag)x=—1 13
s 2°2°2
36)t=—=,3
2




olving Equations by Factoring Review

October 18, 2023

Solve:
56> -17b=-6 /39
So*-Mb+=D -5+27=-N

Sb*-1%b ‘:"Zb +=0
Sb(o-2)-2(0-3)=0

(0-2)(5-2) D
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Solve:2 LD
3a” —4a=20-15a /\_
30%+lla-20=p 1=

502+l’5ﬂ; 4a-20=0
%0(0+5) -4 (a@ =D

(a3)(30-4) =D
0= ~"6) %
Solve:
(b+5)(b+10)=6 j‘{
B+ NotSh+N=l N +4=15
b*+1¥ot44 =D
( b+\\)(b‘r“|>:6
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Solve:
32 +13t =10 20
32+t -10=0 15/—\2 =13
BB -26-10=D

BD)-2(£+9)=D
(t+)(3t-2)=0
t= "51%

Solve:
(a — 1)2 =3a-5
(a-1)0)=3a-5
0Z-o-o+l=20-5
02-Zo+l=20-% 22O
K-S0+ (=D

(a-3Y02)=D
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Solve:
¥’ +(x+1) =145
K+ (oY) = S

K+ X+ XFAH =4S

W-W=0 o
2084-1)=0 o
47
7 (x+9)(x-8)=0
240 %M=D %B=D
=9 x=%
Solve:
x +12x=7x" 2
W =I“+12x=D A
()= D=
K(-U)%3)=D  K=0 x4 =2 x;(a:o
X=4 X
X=04,2 7
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Solve:
12x° —8x*—3x+2=0

W (352) : (3x42)=0
(32) (W=1) =0
(3X—Z> (2x+D(ZX~D =D

~2 )1
X_D:Z\Z

Assignment:

Solve Equations by Factoring
#1-10
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